

# RI JBLIC OF THE PHILIPPINES PRESIDENTIAL COMMUNICATIONS OFFICE



EDSA corner NIA North Road, Diliman, Quezon City

records@npo.gov.ph facebook.com/OfficialNPO

#### **BIDS AND AWARDS COMMITTEE**

#### NOTICE OF AWARD

| Date: May 24, 2023   |
|--|
| NGAT's Trading B3 L1 PH5 Assumption Ville Lingunan, Valenzuela City  |
| Notice is hereby served that you have been awarded the contract to supply for the National Printing Office with <b>One (1) Lot Various Tools &amp; Equipment</b> (see Annex A for complete specifications) for an aggregate amount of <b>P69,999.80</b> based on terms and conditions in accompanying bid submitted on May 16, 2023 Small Value Procurement Sec. 53.9. |
| A purchase order shall be prepared and will be ready for release within five (5) days from issuance of this NOA. Failure to accept the purchase order within five (5) days from its issuance shall be sufficient ground for the National Printing Office to cancel said purchase order without prejudice to imposing other heavier sanctions against you.              |
| NOTE: Performance Bond not required per Sec. 54.5 of R.A. 9184.  |
| CARLOS A. BATHAN Director IV   |
| Conforme:  |
| Name of Bidder: Khaty A. Jurado Print Name & Signature   |
| Date: 5 25 23  |

One NPO, Our NPO, Yes we caN PO!!!

## One (1) Lot Various Tools & Equipment

| QTY | UNIT    | Item Description   | UNIT PRICE | TOTAL             |
|-----|---------|--|------------|-------------------|
| 1   | SET     | CORDLESS IMPACT DRILL - TORQUE (SOFT/HARD/MAX.): 14/30/-Nm - NO-LOAD SPEED (1ST GEAR / 2ND GEAR): 0 – 400 / 0 – 1,500 RPM  | 6,850.00   | ₱6,850.00         |
|     |         | - WEIGHT EXCL. BATTERY: 0.9 KG - BATTERY TYPE: LITHIUM-ION - MAX. IMPACT RATE: 22,500 BPM - CHUCK CAPACITY, MIN./MAX.: 0.8 / 10 MM - TORQUE SETTINGS: 20 + 2 - MAX. DRILLING DIAMETER IN WOOD: 20MM; STEEL: 10 MM; - MASONARY: 8MM - MAX/ SCREW DIAMETER: 8 MM INCLUDES: - 2 X BATTERY GBA 12V 2.0AH 1 600 Z00 02X |            |                   |
|     |         | - CHARGER GAL 1210 CV PROFESSIONAL<br>-CARRYING CASE   |            |                   |
| 40  | PIECE   | PIECE CMOS BATTERY   | 45.00      | <b>₱</b> 1,800.00 |
| 4   | PIECE   | PIECE PUNCH DOWN IMPACT TOOL W/ 110 BLADE - PUNCH DOWN TOOL CUTS AND TERMINATES CABLE INTO A 110 PATCH PANEL OR KEYSTONE JACK - REMOVABLE BLADE OF IMPACT STYLE TOOL WITH TWIST AND LOCK SOCKETS CAN BE STORED IN THE TOOL BODY FOR TRANSPORT  |            | ₱13,800.00        |
|     | e 2     | - ADJUSTABLE IMPACT FORCE SETTINGS (LO/HI) FOR CABLE TERMINATION INTO A JACK, BLOCK, OR PATCH PANEL WITH 110 IDC TERMINALS - KEYSTONE JACK COMPATIBLE FOR CAT 3, CAT 5, CAT 5E, CAT 6, AND CAT 6A NETWORK OR VOICE CABLE; PAIR WITH A KEYSTONE JACK PUNCH DOWN STAND FOR A SAFE AND SECURE INSTALLATION            |            |                   |
| 4   | PIECE   | PLASTIC TOOL BOX - MEASURES 16IN. IN LENGTH - REMOVABLE TOOL TRAY - EASY CARRY PLASTIC HANDLE - TOOL COMPARTMENTS ON THE COVER   | 1,159.00   | ₱4,636.00         |
| 2   | PIECE   | - PADLOCK SLOT MULTIFUNCTIONAL WIRE STRIPPER CUTTER  | 290.00     | ₱580.00           |
| 2 4 | BOX/SET | CABLE TIE  | 220.00     | ₽880.00           |
|     | 237,321 | 50 PIECES.   |            |                   |
|     |         | 11"  |            |                   |
|     |         | NYLON  |            |                   |

## One (1) Lot Various Tools & Equipment

| QTY | UNIT  | Item Description                           | UNIT PRICE | TOTAL             |
|-----|-------|--|------------|-------------------|
| 4   | PIECE | FLATHEAD SCREWDRIVER                       | 190.00     | ₱760.00           |
|     |       | - 2 PIECES 75MM                            |            |                   |
|     |       | - 2 PIECES 100MM                           |            |                   |
| 4   | PIECE | PHILLIPS-HEAD SCREWDRIVER                  | 180.00     | <b>₱</b> 720.00   |
|     |       | - 2 PIECES 75MM                            |            |                   |
|     |       | - 2 PIECES 100MM                           |            |                   |
| 4   | PIECE | TORX SCREWDRIVER                           | 180.00     | <b>₱</b> 720.00   |
|     |       | - 2 PIECES 75MM                            |            | =                 |
|     |       | - 2 PIECES 100MM                           |            |                   |
| 4   | PIECE | METAL SOCKET DRIVER WRENCH NUT REPAIR TOOL | 191.00     | <b>₱</b> 764.00   |
| 4   | PIECE | NEEDLE NOSE PLIERS                         | 1,980.00   | <b>₱</b> 7,920.00 |
| 4   | PIECE | CUTTING PLIERS                             | 545.00     | <b>₱</b> 2,180.00 |
|     |       | - 6"                                       |            |                   |
|     |       | - DIAGONAL                                 |            |                   |
|     |       | - CARBON STEEL                             |            |                   |
| 1   | SET   | TWEEZERS FOR COMPUTER                      | 550.00     | ₱550.00           |
|     |       | - 6 PCS                                    |            | -                 |
|     |       | - ESD-10 - POINTED TIP                     |            | *                 |
|     |       | - ESD-11                                   |            |                   |
|     |       | - ESD-12                                   |            |                   |
| 24  |       | - ESD-13 - FLAT ROUND HEAD                 |            |                   |
|     |       | - ESD-14                                   |            |                   |
|     |       | - ESD-15 - CURVED TIP                      |            |                   |
| 4   | PIECE | 3-PRONGED PART RETRIEVER                   | 595.00     | <b>₱</b> 2,380.00 |
| 1   | PIECE | 8-FOOT ALUMINUM STEP LADDER                | 5,085.00   | <b>₱</b> 5,085.00 |
|     |       | - LIGHTWEIGHT                              |            |                   |
|     |       | - WEIGHT CAPACITY: 300 POUND LB CAPACITY   |            |                   |
|     |       | - REACH HEIGHT: 12 FOOT                    |            |                   |
|     |       | - RUNG OR STEP MATERIAL: ALUMINUM          |            |                   |
|     |       | - NUMBER OF STEPS: 7                       |            |                   |
|     |       | - FOLDABLE: YES                            |            |                   |
|     |       | - TRAY OR WORK PLATFORM: YES               |            |                   |
| 2   | PIECE | TAPE MEASURING METER                       | 425.00     | ₱850.00           |
| 3   | PIECE | EXTENSION CORD WHEEL                       | 1,891.60   | ₱5,674.80         |
|     |       | - UNIVERSAL EXTENSION WHEEL MODEL WEW-15M  |            |                   |
|     |       | - 15 METERS MAXIMUM LENGTH                 |            | 5                 |
|     |       | - 2,500W MAXIMUM LOAD                      |            |                   |
| 50  | PIECE | SPIRAL WRAP BAND WIRE TUBE CORD            | 277.00     | ₱13,850.00        |

## One (1) Lot Various Tools & Equipment

| QTY   | UNIT | Item Description   | UNIT PRICE | TOTAL      |
|-------|------|--|------------|------------|
|       |      | - MATERIAL: MADE FROM PREMIUM PE MATERIALS - COLOR: BLACK - LENGTH: 2 METERS |            |            |
|       |      | - DIAMETER: 12MM   |            |            |
| TOTAL |      |  |            | ₱69,999.80 |